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PART - III

÷Áv°¯À/CHEMISTRY

( uªÌ ©ØÖ® B[Q» ÁÈ / Tamil & English Versions)

÷|µ® : 3 ©o ] [ ö©õzu ©v¨ö£sPÒ : 150
Time Allowed : 3 Hours ] [Maximum Marks : 150

AÔÄøµ : (1) AøÚzx ÂÚõUPÐ® \›¯õP¨ £vÁõQ EÒÍuõ Gß£uøÚ
\›£õºzxU öPõÒÍÄ®. Aa_¨£vÂÀ SøÓ°¸¨¤ß, AøÓU
PsPõo¨£õÍ›h® EhÚi¯õPz öu›ÂUPÄ®.

(2) }»® AÀ»x P¸¨¦ ø©°øÚ ©mk÷© GÊxÁuØS®
AiU÷PõikÁuØS® £¯ß£kzu ÷Ásk®.  £h[PÒ ÁøµÁuØS
ö£ß]À £¯ß£kzuÄ®.

Instructions : (1) Check the question paper for fairness of printing.  If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

£vÄ Gs

No. of Printed Pages : 15

!6683Chemistry!

SÔ¨¦ : ÷uøÁ¯õÚ ChzvÀ £h® Áøµ¢x \©ß£õkPøÍ GÊxP.

Note : Draw diagrams and write equations wherever necessary.

£Sv - I / PART - I

SÔ¨¦ : (i) AøÚzx ÂÚõUPÐUS® Âøh¯ÎUPÄ®. 30x1=30

(ii) öPõkUP¨£mh |õßS ÂøhPÎÀ ªPÄ® HØ¦øh¯ Âøh°øÚ
÷uº¢öukzx SÔ±mkhß Âøh°øÚ²® ÷\ºzx GÊxP.

Note : (i) Answer all the questions.

(ii) Choose the most suitable answer from the given four alternatives and write
the option code and the corresponding answer.

A

A A
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1. ø|m÷µõ «z÷uøÚ Zn/NH4 Cl öPõsk JkUQÚõÀ Qøh¨£x :

(A) CH3 NH2 (B) C2 H5 NH2

(C) CH3 NHOH (D) C2 H5 COOH

When nitromethane is reduced with Zn/NH4 Cl, we get :

(a) CH3 NH2 (b) C2 H5 NH2

(c) CH3 NHOH (d) C2 H5 COOH

2. Gzv½ß QøÍUPõÀ PI3 Ehß ÂøÚ¦›¢x u¸Áx :

(A) ICH2−CH2I (B) CH2=CH2 (C) CH2=CHI (D) ICH=CHI

The reaction of ethylene glycol with PI3 gives :

(a) ICH2−CH2I (b) CH2=CH2 (c) CH2=CHI (d) ICH=CHI

3. iµÄmhß Âv°¼¸¢x Â»Pøh¢xÒÍ }º©® :

(A) øím÷µõS÷Íõ›U Aª»® (B) \À¤³›U Aª»®

(C) £õì£õ›U Aª»® (D) A]miU Aª»®
The liquid that deviates from Trouton’s rule is :

(a) Hydrochloric acid (b) Sulphuric acid

(c) Phosphoric acid (d) Acetic acid

4. AønÄ Gs |õßS öPõsh ÷\º©zvØPõÚ \õßÖ :

(A) K4 [Fe (CN)6] (B) [Co (en)3] Cl3
(C) [Fe (H2O)6] Cl3 (D) [Cu (NH3)4] Cl2
An example of a complex compound having coordination number 4 :

(a) K4 [Fe (CN)6] (b) [Co (en)3] Cl3
(c) [Fe (H2O)6] Cl3 (d) [Cu (NH3)4] Cl2

5. øhö©zvÀ D›øn¯ ¤³møhÀ A«Ûß IUPAC ö£¯º :

(A) 2-Aª÷Úõ-3-ö©zvÀ ¤³m÷hß

(B) 2-(N&ö©zvÀ Aª÷Úõ) ¤³m÷hß

(C) 2-(N, N−øhö©zvÀ Aª÷Úõ) ¤³m÷hß

(D) 2-(N, N−øh ö©zvÀ Aª÷Úõ) ¦÷µõ¨÷£ß
The IUPAC name of dimethyl sec. butylamine is :

(a) 2-amino-3-methyl butane

(b) 2-(N-methyl amino) butane

(c) 2-(N, N-dimethyl amino) butane

(d) 2-(N, N-dimethyl amino) propane
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6. TÌ© xPÒPÐUPõÚ ißhõÀ ÂøÍÂØS Põµn® :

(A) JÎ EÔg_uÀ (B) JÎ Â»PÀ

(C) JÎa]uÓÀ (D) ªß_ø© C¸¨£uõÀ

The Tyndall’s effect associated with colloidal particles is due to :

(a) absorption of light (b) reflection of light

(c) scattering of light (d) presence of charge

7. RÌUPshÁØÖÒ Gx Gßm÷µõ¤ø¯ AvP›UPõx ?
(A) Pøµ\¼À EÒÍ _U÷µõø\ £iP©õUSuÀ
(B) C¸®¦ x¸¤izuÀ
(C) £ÛUPmiø¯ }µõP ©õØÖuÀ
(D) PØ§µzøu £u[P©õUSuÀ
Which of the following does not result in an increase in entropy ?
(a) crystallisation of sucrose from solution
(b) rusting of iron
(c) conversion of ice to water
(d) vapourisation of camphor

8. Põ¨£º \À÷£m }ºUPøµ\¾hß AvP E£› AÍÄ KCN ÷\ºUS® ö£õÊx
E¸ÁõS® ÷\º©® :

(A) Cu2 (CN)2 (B) K2 [Cu (CN)6]

(C) K [Cu (CN)2] (D) Cu2 (CN)2+(CN)2
Which compound is formed when excess of KCN is added to an aqueous solution of
copper sulphate ?

(a) Cu2 (CN)2 (b) K2 [Cu (CN)6]

(c) K [Cu (CN)2] (d) Cu2 (CN)2+(CN)2

9. 235
92U  EmP¸ J¸ {³mµõøÚ EÔg] 139

54Xe
, 94
38Sr

 ©ØÖ®  x

ÂøÍö£õ¸mPøÍz u¸QÓx. CvÀ x Gß£x :

(A) 2 {³mµõßPÒ (B) 3 {³mµõßPÒ

(C) α - xPÒ (D) β - xPÒ

235
92U nucleus absorbs a neutron and disintegrates into 139

54Xe
, 94
38Sr

 and x.  What

will be the product x ?

(a) 2 neutrons (b) 3 neutrons

(c) α - particle (d) β - particle
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10. {Pµ AqUP¸ _ø©ø¯ ¤ßÁ¸® __________ Áõ´¨£õmiß ‰»®
PnUQh»õ®.

(A) Z*=S−Z (B) Z*=Z+S (C) Z=Z*−S (D) Z*=Z−S

Effective nuclear charge can be calculated by using the formula :

(a) Z*=S−Z (b) Z*=Z+S (c) Z=Z*−S (d) Z*=Z−S

11. 2H2O(g)+2Cl2(g) ⇌ 4 HCl(g)+O2(g) GßÓ \©{ø»US :

(A) Kp=Kc (B) Kp>Kc (C) Kp<Kc (D) p

c

1
K

K
 = 

2H2O(g)+2Cl2(g) ⇌ 4 HCl(g)+O2(g) for this equilibrium :

(a) Kp=Kc (b) Kp>Kc (c) Kp<Kc (d) p

c

1
K

K
 = 

12. P÷»õ› «mhºPÒ u¯õ›UP £¯ß£k® Cøh{ø»z uÛ©® :

(A) Cr (B) Ni (C) Zn (D) Cu

The transition element used for making calorimeters is :

(a) Cr (b) Ni (c) Zn (d) Cu

13. RÌUPshÁØÖÒ GvÀ ÃÌ£iÁõUSuÀ ö\¯À CÀø»?

(A) TÌ©©õUQø¯ £¯ß£kzxuÀ

(B) öhÀhõ E¸ÁõuÀ

(C) £iPõµzøu £¯ß£kzv Si}øµ y´ø©¯õUPÀ

(D) hõÛøÚ £¯ß£kzv ÷uõÀ £uÛkuÀ
Which one of the following processes does not involve coagulation ?

(a) Peptisation

(b) Formation of delta

(c) Purification of drinking water using alum

(d) Tanning of leather using tannin

14. ¦µu[PÎß Pmk©õÚ ‰»UTÖPÒ :

(A) α - øímµõUê Aª»® (B) α - Aª÷Úõ Aª»®

(C) β - øímµõUê Aª»® (D) β - Aª÷Úõ Aª»®
The building block of proteins are :

(a) α - hydroxy acid (b) α - amino acid

(c) β - hydroxy acid (d) β - amino acid
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15. J¸ •uÀ ÁøP ÂøÚ°ß AøµÁõÌÄ ÷|µ® 10 {ªh[PÒ GÛÀ, Auß
ÂøÚ÷ÁP ©õÔ¼ :

(A) 6.93×102 min−1 (B) 0.693×10−2 min−1

(C) 6.93×10−2 min−1 (D) 69.3×10−1 min−1

The half life period of a first order reaction is 10 minutes.  Then its rate constant is :

(a) 6.93×102 min−1 (b) 0.693×10−2 min−1

(c) 6.93×10−2 min−1 (d) 69.3×10−1 min−1

16. BU÷\õ ÷|º A¯ÛPøÍ E¸ÁõUS£øÁ :

(A) »õ¢uøÚkPÒ (B) BUiøÚkPÒ

(C) E¯›¯ Áõ²UPÒ (D) Põµ E÷»õP[PÒ

Oxocations are formed by :

(a) Lanthanides (b) Actinides

(c) Noble gases (d) Alkali metals

17. RÌUPshÁØÖÒ Gx JÎa_ÇØ]¨ £s¦øh¯x ?

(A) CH3 CH2 COOH (B) HOOC−CH2−COOH

(C) CH3 CH (OH) COOH (D) Cl2 CHCOOH

Which of the following compound is optically active ?

(a) CH3 CH2 COOH (b) HOOC−CH2−COOH

(c) CH3 CH (OH) COOH (d) Cl2 CHCOOH

18. C2 H5 OC2 H5 ,  öÁÎ¨£kzx® ©õØÔ¯® :

(A) ÂøÚaö\¯À öuõSv (B) Cøn ©õØÔ¯®

(C) Ch® (D) \[Q¼z öuõhº

The isomerism exhibited by C2 H5 OC2 H5 and  is :

(a) functional (b) metamerism

(c) position (d) chain
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19. Cµzu® EøÓuø» FUSÂUS® ÷\º©® :

(A) K2SO4⋅Al2 (SO4)3⋅4Al (OH)3 (B) K2SO4⋅Al2 (SO4)3⋅24Al (OH)3

(C) K2SO4⋅Al2 (SO4)3⋅4H2O (D) K2SO4⋅Al2 (SO4)3⋅24H2O

Name the compound employed to arrest bleeding.

(a) K2SO4⋅Al2 (SO4)3⋅4Al (OH)3 (b) K2SO4⋅Al2 (SO4)3⋅24Al (OH)3
(c) K2SO4⋅Al2 (SO4)3⋅4H2O (d) K2SO4⋅Al2 (SO4)3⋅24H2O

20. L£õº©õÀiøíøh £»£i¯õUQÚõÀ Qøh¨£x :

(A) £õµõL£õº©õÀiøík (B) £õµõÀiøík

(C) £õº©¼ß (D) L£õºªU Aª»®
Formaldehyde polymerises to give :

(a) paraformaldehyde (b) paraldehyde

(c) formalin (d) formic acid

21. øím÷µõS÷Íõ›U Aª»zøu ÷\õi¯® Põº£÷Úmkhß uµ® £õºUS® ÷£õx
£¯ß£kzu¨£k® {Ó[Põmi :

(A) ö£õmhõ]¯® ö£º©õ[P÷Úm

(B) ¥ÚõÀ¨u½ß

(C) ¥ÚõÀ ]Á¨¦

(D) ö©zvÀ Bµg_
For the titration between hydrochloric acid and sodium carbonate, the indicator used
is :

(a) potassium permanganate

(b) phenolphthalein

(c) phenol red

(d) methyl orange

22. öám C¯¢vµ £õP[PÒ u¯õ›UP £¯ß£k® Mg &ß E÷»õPUP»øÁ Gx ?

(A) 3% ªè E÷»õP® ©ØÖ® 0.1% Zr.

(B) 30% ªè E÷»õP® ©ØÖ® 1% Zr.

(C) 30% ªè E÷»õP® ©ØÖ® 0.1% Zr.

(D) 3% ªè E÷»õP® ©ØÖ® 1% Zr.

Which Mg alloy is used in making parts of jet engines ?

(a) 3% Mish metal and 0.1% Zr.

(b) 30% Mish metal and 1% Zr.

(c) 30% Mish metal and 0.1% Zr.

(d) 3% Mish metal and 1% Zr.
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23. N2+3H2 ⇌ 2NH3 GßÓ \©{ø»°À AvP AÍÄ A®÷©õÛ¯õ Qøh¨£x :

(A) SøÓ¢u AÊzu® AvP öÁ¨£{ø»

(B) SøÓ¢u AÊzu® SøÓ¢u öÁ¨£{ø»

(C) AvP AÊzu® SøÓ¢u öÁ¨£{ø»

(D) AvP AÊzu® AvP öÁ¨£{ø»
In the equilibrium N2+3H2 ⇌ 2NH3, the maximum yield of NH3 will be obtained with
the process having :

(a) low pressure and high temperature

(b) low pressure and low temperature

(c) high pressure and low temperature

(d) high pressure and high temperature

24. µõ¨¤÷Úõøé }µõØ£SzuõÀ Qøh¨£x :

(A) Cµsk JØøÓ \ºUPøµ

(B) ‰ßÖ JØøÓ \ºUPøµ

(C) J¸ Cµmøh \ºUPøµ ©ØÖ® J¸ JØøÓ \ºUPøµ

(D) Cµsk JØøÓ \ºUPøµ ©ØÖ® J¸ Cµmøh \ºUPøµ
Raffinose on hydrolysis gives :

(a) two monosaccharides

(b) three monosaccharides

(c) one disaccharide and one monosaccharide

(d) two monosaccharides and one disaccharide

25. ‰»UTÔÝÒ {PÊ® H - ¤øn¨¤ØPõÚ \õßÖ :

(A) o - ø|m÷µõ ¥ÚõÀ (B) m - ø|m÷µõ ¥ÚõÀ

(C) p - ø|m÷µõ ¥ÚõÀ (D) ¥ÚõÀ
The intramolecular hydrogen bonding is present in :

(a) o-nitrophenol (b) m-nitrophenol

(c) p-nitrophenol (d) phenol

26. NaCl £iPzvÀ Na+ A¯Ûø¯ `Ì¢xÒÍ Cl− A¯ÛPÎß GsoUøP :

(A) 6 (B) 8 (C) 4 (D) 12

The number of chloride ions that surrounds the central Na+ ion in NaCl crystal is :

(a) 6 (b) 8 (c) 4 (d) 12
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27. Ahº HNO3 ©ØÖ® Ahº  H2SO4 P»øÁ²hß AÛ÷\õÀ u¸Áx :

(A) Bº÷uõ ø|m÷µõ AÛ÷\õÀ

(B) £õµõ ø|m÷µõ AÛ÷\õÀ

(C) Bº÷uõ ©ØÖ® £õµõ ø|m÷µõ AÛ÷\õÀ

(D) ö©mhõ ø|m÷µõ AÛ÷\õÀ
With a mixture of Conc. HNO3 and Conc. H2SO4 Anisole gives :

(a) ortho nitro anisole

(b) para nitro anisole

(c) ortho and para nitro anisole

(d) meta nitro anisole

28. sp2 CÚU P»¨ø£¨ ö£ØÔ¸UPõu A¯Û __________ .

(A) 2

3
CO
− (B) 2

4SO
− (C)

3NO
− (D)

2NO
−

sp2 hybridisation is not present in __________ ion.

(a) 2

3
CO
− (b) 2

4SO
− (c)

3NO
− (d)

2NO
−

29. A«ßPÎß Põµ¨ £s¤ØSU Põµn® :

(A) |õß•Q Aø©¨¦

(B) ø|mµáß Aq C¸¨£uõÀ

(C) ø|mµáÛ¾ÒÍ uÛ G»Umµõß Cµmøh

(D) ø|mµáÛß E¯º G»Umµõß PÁºußø©
The basic character of amines is due to :

(a) tetrahedral structure

(b) presence of nitrogen atom

(c) lone pair of electrons on nitrogen atom

(d) high electronegativity of nitrogen

30. Pøµ¨£õß PÁº TÌ©zvØS \õßÖ :

(A) Pøµ¨£õÛÀ EÒÍ E÷»õP® (B) }›À EÒÍ \À£º

(C) öá»õmiß (D) Fe (OH)3 TÌ©®
An example for lyophilic colloid is :

(a) colloidal solutions of metal (b) sulphur in water

(c) gelatin (d) Fe (OH)3 colloid
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£Sv - II / PART - II

SÔ¨¦ : (i) H÷uÝ® £vøÚ¢x ÂÚõUPÐUS Âøh¯ÎUPÄ®. 15x3=45

(ii) JÆöÁõ¸ ÂÚõÂØS® JßÖ AÀ»x Cµsk ÁõUQ¯[PÎÀ
Âøh¯ÎUPÄ®.

Note : (i) Answer any fifteen questions.

(ii) Each answer should be in one or two sentences.

31. öí´\ß£ºU {ø»°À»õ öPõÒøPø¯ GÊxP.
State Heisenberg’s uncertainty principle.

32. Põº£Ûß A¯Û¯õUS® BØÓÀ ÷£õµõøÚ Âh AvP® Hß ?
Ionisation energy of Carbon is more than that of Boron.  Why ?

33. ¤Í®÷£õ \õÀÁß] £ØÔ SÔ¨¦ GÊx.
Write a note on plumbo solvency.

34. H4 P2 O7 &ß G»Umµõß ¦ÒÎ Áõ´¨£õmiøÚ ÁøµP.
Draw the electron dot formula of H4 P2 O7.

35. Cøh{ø»z uÛ©[PÒ E÷»õPU P»øÁPøÍ E¸ÁõUSÁx Hß ?
Why do transition elements form alloys ?

36. S÷µõ®•»õ® §_uÀ £ØÔ ]ÖSÔ¨¦ ÁøµP.
Write short note on chrome plating.

37. 27 4 30 1
13 2 14 1Al He   Si  H  Q→+ + +  GßÓ EmP¸ÂøÚ°ß Q ©v¨ø£U

PshÔP.

27
13Al , 4

2He , 30
14Si

, 1

1H
 BQ¯ÁØÔß \›¯õÚ {øÓPÒ •øÓ÷¯

26.9815 amu, 4.0026 amu, 29.9738 amu, 1.0078 amu BS®.
Calculate Q value of the following nuclear reaction.

27 4 30 1
13 2 14 1Al He   Si  H  Q→+ + +

The exact mass of 27
13Al  is 26.9815 amu, 30

14Si
 is 29.9738 amu, 4

2He  is 4.0026 amu

and 1
1H

 is 1.0078 amu.

38. AvªßPhzvPÎß H÷uÝ® ‰ßÖ £¯ßPøÍ GÊxP.
Write any three applications of superconductors.

39. Gßm÷µõ¤ GßÓõÀ GßÚ ? Auß A»SPøÍU TÖ.
What is entropy ?  What are its units ?
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40. ½\õm¼¯º öPõÒøPø¯U TÖP.
State Le Chatelier’s principle.

41. ÷£õ¼ •uÀ ÁøP ÂøÚ GßÓõÀ GßÚ ? GkzxUPõmk u¸P.
What is a pseudo first order reaction ?  Give an example.

42. AºïÛ¯ì \©ß£õmiøÚ GÊv ÂÍUSP.
Write the Arrhenius equation and explain the terms.

43. TÌ©©õUPÀ GßÓõÀ GßÚ ? GkzxUPõmk u¸P.
What is peptisation ?  Give an example.

44. öíßhº\ß \©ß£õmiß ‰ßÖ •UQ¯zxÁzøu²® GÊxP.
Write three significances of Henderson equation.

45. CÚß]÷¯õ©º ©ØÖ® h¯õìi›÷¯õ©ºPÎß H÷uÝ® ‰ßÖ ÷ÁÖ£õkPøÍ
GÊxP.
Write any three differences between enantiomers and diastereomers.

46. BÀPíõø» Q›UÚõºk PµoUS Pøµ¨£õÚõP £¯ß£kzu •i¯õx,
Põµn® TÖ.
Alcohols cannot be used as a solvent for Grignard reagent.  Give reason.

47. öhõ¾ÃÛ¼¸¢x ö£ßø\À BÀPíõÀ GÆÁõÖ u¯õ›UP¨£kQÓx ?
How will you prepare benzyl alcohol from toluene ?

48. ÷µõ\ß©sm JkUP® GßÓõÀ GßÚ ? AvÀ BaSO4 ÷\º¨£uß ÷|õUP®
GßÚ ?
What is Rosenmund’s reduction ?  What is the purpose of adding BaSO4 in this
reaction ?

49. «zøuÀ \¯øÚk A]mhø©k¼¸¢x GÆÁõÖ u¯õ›UP¨£kQÓx ?
How is methyl cyanide obtained from acetamide ?

50. Põ¤›÷¯À uõ¼ø©k öuõSzuÀ £ØÔ GÊxP.
Write about Gabriel phthalimide synthesis.

51. \õ¯[PÎß H÷uÝ® ‰ßÖ ]Ó¨¤¯À¦PøÍ GÊxP.
Give any three characteristics of dyes.
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£Sv - III / PART - III

SÔ¨¦ : JÆöÁõ¸ ¤›Â¼¸¢x® SøÓ¢u£m\® C¸ ÂÚõUPøÍz
÷uº¢öukzx  H÷uÝ® HÊ ÂÚõUPÐUS Âøh¯ÎUPÄ®.

Note : Answer any seven questions choosing at least two questions from each section.

¤›Ä & A / SECTION - A

52. ÷hÂ\ß ©ØÖ® öáº©›ß ÷\õuøÚø¯ ÂÁ›.

Describe the Davisson and Germer experiment.

53. Aºáßøhm uõxÂ¼¸¢x ]ÀÁº GÆÁõÖ ¤›zöukUP¨£kQÓx ?

How is silver extracted from Argentite ore ?

54. »õ¢uøÚk SÖUPzvß ÂøÍÄPøÍ GÊxP.

Write the consequences of lanthanide contraction.

55. uUP \õßÖPÐhß AønÄ©õØÔ¯® ©ØÖ® A¯Û¯õuÀ ©õØÔ¯[PøÍ
ÂÍUSP.

Explain coordination and ionisation isomerism with suitable examples.

¤›Ä & B / SECTION - B

56. Pmi»õ BØÓÀ G &ß ]Ó¨¤¯À¦PÒ ¯õøÁ ?

What are the characteristics of free energy, G ?

57. PCl5 ]øuÁøh²® ÂøÚUS Kp ©ØÖ® Kc ©õÔ¼PÐUPõÚ \©ß£õmiøÚ
Á¸ÂUPÄ®.

Derive the expressions for Kp and Kc for decomposition of PCl5.

58. ÂøÚÁøP°ß ]Ó¨¤¯À¦PÒ ¯õøÁ ?

What are the characteristics of order of a reaction ?

7x5=35
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59. 0.01 M Cu2+ &IU öPõsi¸US® 2
(aq)

Cu
+ /Cu(s) AøµP»zvß e.m.f.=+0.301 V.

Cuß vmh e.m.f. &IU PnUQkP.

The e.m.f. of the half cell 2
(aq)

Cu
+ /Cu(s) containing 0.01 M Cu2+ solution is +0.301 V.

Calculate the standard e.m.f. of the half cell.

¤›Ä & C /- SECTION - C

60. A÷µõ©õmiU ©ØÖ® A¼L£õmiU DuºPÐUQøh÷¯ EÒÍ ÷ÁÖ£õkPÒ
I¢vøÚz u¸P.
Give any five differences between aromatic and aliphatic ethers.

61. ¤ßÁ¸® ÂøÚPøÍ GÊxP.
(i) QÍ©ß\ß JkUP® (ii) ö£ºQßì ÂøÚ
Write the following reactions :
(i) Clemmenson reduction (ii) Perkins reaction

62. Põº£õU]¼U Aª»®, BÀPíõ¾hß ¦›²® GìhµõUSuÀ ÂøÚ°ß
ÁÈ•øÓø¯ GÊxP.
Write the mechanism involved in the esterification of a carboxylic acid with alcohol.

63. ©¯UP ©¸¢xPÒ £ØÔ ]ÖSÔ¨¦ GÊxP.
Write short notes on anaesthetics.

£Sv - IV / PART - IV

SÔ¨¦ : (i) ö©õzu® |õßS ÂÚõUPÐUS Âøh¯ÎUPÄ®. 4x10=40

(ii) ÂÚõ Gs 70 &US Pmhõ¯©õP Âøh¯ÎUP¨£hÀ ÷Ásk®.
«u•ÒÍ ÂÚõUPÎÀ H÷uÝ® ‰ßÖ ÂÚõUPÐUS
Âøh¯ÎUPÄ®.

Note : (i) Answer four questions in all.
(ii) Question number 70 is compulsory and answer any three from the remaining

questions.

64. (A) £õ¼[ •øÓ°À A¯Û Bµzøu PnUQk® •øÓø¯ ÂÍUSP.
(B) E¯›¯ Áõ²UPÒ µõ®÷é&µõ÷» •øÓ°À GÆÁõÖ PõØÔ¼¸¢x

¤›zöukUP¨£kQßÓÚ Gß£øu ÂÁ›.
(a) Explain Pauling method to determine ionic radii.
(b) Describe how noble gases are isolated from air by Ramsay-Raleigh method.
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65. (A) CønvÓß ¤øn¨¦ öPõÒøPø¯ £¯ß£kzv [Ni(CN)4]
2− øh¯õ

Põ¢uz ußø© öPõshx, [Ni(NH3)4]
2+ ÷£µõPõ¢uz ußø© öPõshx

Gß£øu {¹¤.

(B) Pv›¯UP Põº£ß Põ» {ºn¯ •øÓø¯ ÂÍUSP.

(a) Using Valence Bond theory prove that [Ni(CN)4]
2− is diamagnetic, whereas

[Ni(NH3)4]
2+ is paramagnetic.

(b) Explain Radiocarbon dating.

66. (A) Psnõi°ß ußø©ø¯ ÂÁ›.

(B) C¯Ø¤¯À £µ¨¦U PÁºa]US®, ÷Áv°¯À £µ¨¦U PÁºa]US•ÒÍ
÷ÁÖ£õkPÒ ¯õøÁ ?

(a) Describe the nature of glass.

(b) What are the differences between physical adsorption and chemical adsorption.

67. (A) BìÁõÀiß }ºzuÀ Âvø¯ ÂÍUS.

(B) ªßP»zvøÚ SÔ¨¤h £¯ß£k® IUPAC Âv•øÓPøÍ SÔ¨¤kP.

(a) Explain Ostwald’s dilution law.

(b) Mention the IUPAC conventions for writing cell diagram.

68. (A) ÁøÍ¯ öíU\Úõ¼ß Á\ Aø©¨¦PøÍ ÂÁ›. AÁØÔß
{ø»zußø©ø¯ SÔ¨¤kP.

(B) ¤ßÁ¸® ©õØÓ[PÒ GÆÁõÖ {PÌQßÓÚ ?

(i) \õ¼]¼U Aª»® → Bì¤›ß

(ii) \õ¼]¼U Aª»® → «zøuÀ \õ¼]÷»m

(iii) £õºªU Aª»® → £õº©ø©k

(a) Describe the conformations of cyclohexanol.  Comment on their stability.

(b) How are the following conversions carried out ?

(i) Salicylic acid → aspirin

(ii) Salicylic acid → methyl salicylate

(iii) Formic acid → formamide
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69. (A) ø|mµì Aª»® K›øn¯, D›øn¯, ‰Âøn¯ A«ßPÐhß
GÆÁõÖ ÂøÚ ¦›QßÓx ?

(B) SÐU÷Põ]ß Aø©¨¤øÚ {¹¤.

(a) How do primary, secondary and tertiary amines react with nitrous acid ?

(b) Elucidate the structure of glucose.

70. (A) C6 H6 O GßÓ ‰»UTÖ Áõ´¨£õk öPõsh ÷\º©® (A) |k{ø» ö£º›U
S÷Íõøµkhß Fuõ {Ózøu u¸QÓx. ÷\º©® (A) CHCl3 ©ØÖ® NaOH

Ehß Põ´a_® ö£õÊx Cµsk I÷\õ©ºPÒ (B) ©ØÖ® (C) ø¯z u¸QÓx.
÷\º©® (A) Ehß øh¯÷\õ«z÷uß PõµUPøµ\À ÷\ºUS®ö£õÊx (D)

GßÓ Duøµ u¸QÓx GÛÀ (A), (B), (C) ©ØÖ® (D) &IU PshÔ¢x
ÂøÚPøÍ GÊxP.

(B) (A) GßÓ Bµg_ ]Á¨¦ {Ó £iP®, J¸ Á¼ø© ªS BU]á÷ÚØÔ.
÷\º©® (A), ö£õmhõ]¯® S÷Íõøµk ©ØÖ® Ahº \À¤³›U
Aª»zxhß ÂøÚ¦›¢x, {Ó•ÒÍ Áõ² (B) ø¯ öÁÎÂkQÓx. KOH

Ehß (A) ÂøÚ¦›¢x (C) GßÓ ©g\Ò {Ó Pøµ\À ö£Ó¨£kQÓx GÛÀ
(A), (B) ©ØÖ® (C) &IU PshÔ¢x ÂøÚPøÍ GÊxP.

AÀ»x

(C) C2 H4 O GßÓ ‰»UTÖ Áõ´¨£õkøh¯ ÷\º©® (A), C2 H3 N GßÓ
‰»UTÖ Áõ´¨£õkøh¯ ÷\º©® (B) ø¯ Du›À Pøµzx SnCl2 ©ØÖ®
HCl Ehß  JkUP® ö\´x u¯õ›UP¨£kQÓx. ÷\º©® (A) hõ»ßì
Pµoø¯ JkUSQÓx. J¸ xÎ Ahº H2 SO4 ÷\ºUS®÷£õx ÷\º©®
(A) £»£i¯õUP¾US Em£mk ÁøÍ¯ ÷\º©® (C) Iz u¸QÓx GÛÀ
(A), (B) ©ØÖ® (C) &ø¯U PshÔ¢x ÂøÚPøÍ GÊxP.

(D) AÍÂ»õ }ºzu¼À Al3+ ©ØÖ® 2

4
SO
−&ß A¯ÛU Phzx® vÓßPÒ

•øÓ÷¯ 189 K®−1 ö\.«2  Q. \©õÚ®−1  ©ØÖ® 160 K®−1 ö\.«2

Q. \©õÚ®−1 BS®. AÍÂ»õ }ºzu¼ß ªß£SÎ°ß \©õÚ ©ØÖ®
÷©õ»õº Phzxz vÓøÚU PnUQk.



www.ca
re

er
in

dia.
co

m

15 6683

[ v¸¨¦P / Turn overA

A A

A A

(a) An organic compound (A) of molecular formula C6 H6 O, gives violet colour with
neutral ferric chloride. Compound (A) when refluxed with CHCl3 and NaOH
gives two isomers (B) and (C).  Compound (A) when added to diazomethane in
alkaline medium gives an ether (D).  Identify (A), (B), (C) and (D).  Explain the
reactions.

(b) Compound (A) is an orange red crystal and also a powerful oxidising agent.
Compound (A) when treated with potassium chloride and concentrated sulphuric
acid evolves coloured gas (B).  When KOH reacts with (A) an yellow solution of
(C) is obtained.  Identify (A), (B) and (C).  Explain the reactions.

OR

(c) An organic compound (A) of molecular formula C2 H4 O is prepared by the
reduction of compound (B) of molecular formula C2 H3 N dissolved in ether, with
SnCl2 and HCl.  Compound (A) reduces Tollen’s reagent.  When a drop of conc.
H2 SO4 is added to compound (A), it polymerises to give a cyclic compound (C).
Identify (A), (B) and (C).  Explain the reactions.

(d) Ionic conductance at infinite dilution of Al3+ and 2

4
SO
−  are 189 ohm−1 cm2

gm.equiv.−1 and 160 ohm−1 cm2 gm.equiv.−1.  Calculate equivalent and molar
conductance of the electrolytes at infinite dilution.

- o 0 o -


